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1.Simplify 2"~ 1 . 22" . (:B2_")



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_qZV6yJmXfWQN

l ° View Text Solution

3n—2 . 92—n

2. Simplify o

o View Text Solution

3. If log 23=z, find the value of log 2, 300 in

terms of z.

° View Text Solution



https://dl.doubtnut.com/l/_qZV6yJmXfWQN
https://dl.doubtnut.com/l/_Qi8rigQLdkvB
https://dl.doubtnut.com/l/_3gdfFwQrB2e7

4. If In 2=x and In 3=y find the value of In 18 in

terms of x and y.

° View Text Solution

5. Solve for z: logy(x + 5) = log, = + log, 5.

° View Text Solution

6. Evaluate log,; /54 — log,, 1/6.

° View Text Solution



https://dl.doubtnut.com/l/_hX1YiMXGdZfb
https://dl.doubtnut.com/l/_TcZbDQju1Qfz
https://dl.doubtnut.com/l/_Dtef32ZaYg5R

7. The population of a certain city grows at
7% per year, and the current population is
100,000. What will the population of the city

be in 10 years ?

o View Text Solution

8. A bond pays interest at a rate of 3%
compounded annually. How long it take an

initial investment to double ?

| & I


https://dl.doubtnut.com/l/_Dtef32ZaYg5R
https://dl.doubtnut.com/l/_liyrt9u2PvYt
https://dl.doubtnut.com/l/_WvwxPTLZAx9f

| ¥ View Text Solution

1ifz% - (waH)G (x%)' ™" = ¥, then k=

A 2a + 1
B.a—ka,2
C. 3a

D.3a +1

Answer: C



https://dl.doubtnut.com/l/_WvwxPTLZAx9f
https://dl.doubtnut.com/l/_OGsejxi73Zvd

[ ° View Text Solution

2.1flogg 3 = x - log, 3, then x=

A 1
3
B.3
C.4

D.log, 3

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_OGsejxi73Zvd
https://dl.doubtnut.com/l/_41N2p2BwfTi3

1
3.Iflog;pm = 3 then log;, 10m* =

A2
B.25
C.3

D. 10.25

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_3MQzOro70A8U

4, If log,5 = a,logy2.5 = ¢, and 5 = 2.5,

then x=

C.a—+c

D.c —a

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_4jrzfgDsvdq1
https://dl.doubtnut.com/l/_9yhAh9otTeZP

5.If f(x) = log, x, then f(%) + f(x) =

2
A. log, (E) + log, =

B.1

2 2
C. 10g2( Zm )

2
D. log, (E) - log, ©

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_9yhAh9otTeZP

6. If In (zy) < 0, which of the following must
be true ?

Azy <0

B.xy < 1

Czy>1

D.zy > 0

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_NkEY6hFtkuPS
https://dl.doubtnut.com/l/_Mwp2vfGN1fMM

7.1flog, m = /7 and log, n = 1/2,mn=

Al
B.2
C.96

D. 98

Answer: D

° Watch Video Solution

8. 10g7 H =


https://dl.doubtnut.com/l/_Mwp2vfGN1fMM
https://dl.doubtnut.com/l/_xse4B0ysL9fN

A 1.2

B.1.1

C.0.9

D.0.8

Answer: D

° Watch Video Solution

9.31/2°1/4°/8 =

A.19


https://dl.doubtnut.com/l/_xse4B0ysL9fN
https://dl.doubtnut.com/l/_JY8wrdGbPX8C

B.2.0

C.2.1

D.2.3

Answer: C

o Watch Video Solution

10. If $300 is invested at 3 %, compounded
annually, how log (to the nearest year) will it

take for the money to increase by 50 % ?


https://dl.doubtnut.com/l/_JY8wrdGbPX8C
https://dl.doubtnut.com/l/_kWhQjqWEYAWl

A 11

B.12

C.13

D. 14

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_kWhQjqWEYAWl

